N = 0l & At & Ml A
20229 E = 13 LBtEH BHLCAARRS
SN BEYCAAMSAS
M B WRS BHAS P
Sel BN M QL ORI oY (el @ e)
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
EFLCAANRDS 734,240 764,714 ~30,474
THGD WRE ZHAE P 141,610 165,535 £23,925
THRD HE Y ORI oY 81,020 104,945 ~23,925
Sxbel oy =it 33,408 62,333 ~23,925
203 22 =T b 0 2,565 A2,565
03 AR R ETH| 0 2,565 12,565
OZEMYREX 0 0 2,565 ~2,565
204 X243 A 0 21,360 ~21,360
03 SH Y2 0 21,360 ~21,360
OZMNYR(RANE) 0 0 1,200 A 1,200
OEXAY R 0 0 20, 160 £20,160
THGD SYH &F A 434,352 418,272 16,080
MBS ZAAAE 2st 323,847 307,767 16,080
2 AFAI RO 62,670 46,590 16,080
204 =2 43 A | 44,400 28,320 16,080
03 SHY 2| 44,400 28,320 16,080
OZAMLR(RHE) 1,200,000 1,200 2,400 A1,200
OZLAY R 43,200,000 43,200 25,920 17,280
BHSS P (ZAD) 0 74,279 AT4,279
2 HH (ZAD) 0 74,279 AT4,279
2 (ZAD) 0 74,279 AT4,279
201 2Bt | 0 35,530 35,530
01 AR 22/t 0 35,530 £35,530
OEMYREX 0 0 35,530 35,530
202 04 | 0 34,969 34,969
01 2 obl 0 34,969 34,969
SEINISEESS 0 0 34,969 34,969
203 & = b 0 3,780 ~3,780
04 EASAYRET| 0 3,780 £3,780
OZ A 0 0 3,780 ~3,780
BHSAAL (ZAES) 158,278 106,628 51,650
2 FH (R AR 158,278 106,628 51,650
2 (2RI 3]) 158,278 106,628 51,650
201 Lete HH| 71,060 45,220 25,840
01 At 2H2lH| 71,060 45,220 25,840
OLANRRSE YRz 71,060,000 71,060 45,220 25,840
202 04l 69.938 44,506 25,432
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